QUIZ: Long and Synthetic Division       




Name: _______________________________________________

Complete the following table by dividing the polynomials using Long Division AND Synthetic Division. Write your answer as a polynomial and identify the remainder, if there is one.
	
	LONG DIVISION
	SYNTHETIC DIVISION
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x3 +8x2 + 7x − 20( )÷ x +3( )
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	3.  
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x4 − 72x2 − 60x + 27( )÷ x +8( )
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	4.  
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10x2 +30x + x3 + 24( )÷ x + 4( )
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5.  Only one of the methods (Long OR Synthetic) will work in this case. 
      a)  Determine the method that works.

      b)  Divide the polynomial.

      c)  Check your answer.
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x3 + 6x2 − x − 30( ) ÷ x2 + 8x +15( )
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